THISHEE —REFANLBR

TEZNDI

AFLEA ZWEEA) | FEMEFD) |y = % .-
§EF%% MRSt MAVTF TR
A = >=- JL,E = iy TFy E"‘-E
0 |HsEE AR EEAREEES e 2750000  — - & SA2B |y ez
RTEDRETE p
Sl G i*@é“'% Y= r N BFEEEQE%
31 |BREF—Y13tHk e g 52 B 56,650,000 — — |tEBIIERERE R | 5A24B |4 mermie
) Al = %ﬁﬁ1§ ]\*LEF'.IJ'_ S = S =
36 I*“Iﬂi%ﬁﬁ::ljlﬂb- 7)[/'[:’)]§I$ I$ — — ()\*L%bila\fd:l:\f’&)) ﬁ:mﬁngﬁﬁi
37 | T+ 55 BNMRBERETRITER ﬂ%%; 6,666,000 7,073,000( 94.25% |1 BIE R ET R =4t 5H248 [#AMEHRZRL KREZR
= AfLe e sns
38 =] 1 QH?iﬁﬁiﬁﬁEE/E'liic&uf%a'% /,E\“E i i (?ﬁﬁl:%‘,—%") 75§3507L:75:&5) %Kﬁiﬁngn%i*{?ﬁ
39 |FINT—REEZEVRBLUSIGSANERTEER p: =S 1,210,000 — —  |BHRIERET%R et 58248 |IREFRRIER
40 |EHFEM—REMER—R N PR M ARE — — |ARFE 5A24H | RERABE R
KE1L&%E%@LLL§mm@ﬁm*Mg& IKEEER 14,575,000 14,806,000( 98.44% |HRE4t FIIMEH 58248 | L F/KEZREIHEFR

KPTESICOMLHHIDF, FEMEZERARLTLDLD

MALMITESEI1ZL. B

BREEITDOIENTHAO. BE. REHNZEMHEIT L0




